
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 



 



 



 



 



 



 

 

 

 

 

 

 



 



 



 

5.625mm 

S 50kN 

S=50kN 

M 150kNm 



 

3.75mm 

S= 50kN 

S=50kN 

M 150kNm 



 



 

100kN/  100kN/  



 

33.007mm 



 

Mmax=308.450kNm 

Mmin= 1.282kNm 

Smax=150.000kN 

Smin= 150.000kN 



 

2.363mm 

Mmax 88.481kNm 

Mmin 88.869kNm 



 

Smax 90.632kN 

Smin 90.632kN 

Nmin 231.950kN 

Nmax 231.950kN 



 

33.007mm 



 

Mmin 1.282kNm 

Mmax 308.447kNm 

Smin 150.000kN 

Smax 150.000kN 



 

 

 

 

 

2.363mm 



 

Mmin 88.869kNm 

Mmax 88.481kNm 

Smax 90.632kN 

Smin 90.632kN 



 

Nmin 231.950kN 

Nmax 231.950kN 



 


